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MATHECMATICS By Pradesp Sic

Ql.AcondoomrkhB%doyswhlloBeondo

same work in 16 days. How long (in days) will
it take if they do the work together?

A U BTH 6- R A B2 qFa1 ¢ wafd 8 380 F1A B

16- Ral A B2 awar ¢, A Al Aes 380 T 3
100 fFaafRaAqusEz SN2

(c) &2 (0)52




MATHEMATICS

Qz.AeondoamrklnndoycondBanOdoys

nmcymrkonhtogothorforwdcys
what fraction of work is left ?

A 72 el & v &1 S ASar £ 32 8 3A 90 &
A & F@ar 21 af? 310 Ra & Bv ve T 1A
®a £ A 1A &1 fBaen sier g Ao ?

OF

OF




MATHCMATICS By Pradacp Sic

Q3. A can complete a work in 20 days and B
can complete the same work in 25 days. If both
of them work together, then in_3 days what

-2 -» 457 percent of the total work will be completed?
3 » A TS BT B 20 e H Q1 B2 Hwan 2 aen 8 3
*3 5 93 &1 @1 25 e A g1 B2 F@ar 21 af = Aa®e
& &2, at 3 A $& &1d &1 fdaen ufdea
&1 21 2 AT ? E

(A) 9 (B) 12

o8
y




MATHCMATICS

By Pradeep Sir

Q4. A can complete 50% of a jobin 9daysand B
can complete 25% of the job in 9 days if they
worked alone. If they worked together how
much of the job (in %) can they complete in 9

days ?

A 9 & & 50% HTH Y21 B2 Adbar ¢ 3z s 9 Rat A
I8 BTHA BT 25% Y21 He AHdl 21 a2 ? 3FS 35S
s satIgRIT A BABALAoRAH
faen &1 (% F) I aSarg ?

(B) 90

(D) 100



MATHCMATICS

Q5. Amar can complete a work in 7.5 days and
Raman can complete the same work in 12.5
days. If both of them work together, then in 4
days what percent of the total work will be

completed?

e v Bl B 7.5 fRal A g1 B Fwan § aen
mzzﬂﬂa’nzsﬁa‘liqammgmﬁ

Al fAe®e 4 e &1 &2, @t oo &1 &1
wfdera & ge1 8 Ao 2

(A) 82.5% (B) 80.1%

(C) 75.5% D) 85.33%




MATHCMATICS

By Pradeep Sir
R

o= —S:;'/L'Q:?QO“D Q6. A can do 1/5th of a work in 4 days 1/6th of
the same work in 5 days. In how many days
—~ they can finish the work, if they work together?
L98B —= - %523 3ed Aﬁzﬂmmlsﬂmdta?ﬂmama
- 32t v @1 1/6al a1 5 el A B2 AHar 21 afe A
Lem -co | T 1 fAe®e &1 ®ea € al 38 &1 & fFaa

RefA sz asat?

i W

~ (c)20 (D)15




MATHCMATICS By Pradesp Sic

Q7. M can complete 3/4 part of a work in 12
days and N can complete 2/7 part of the same
work in 8 days. In how many days will both
complete 11/14 part of the total work?

MES SIS 34T R2RaASIIASATE AN
mm%7maﬁaimm | Sl
IC T T4 4

®111/14 o1 fbaat Rar A SN 2

(B)9

(D)6




MATHCMATICS By Pradesp Sis

Q8. A can do 2/5 of a work in 12 days while B can
do ¢¢ %/ of the same work in 16 days. They

ol work together for 10 days. B alone will complete
the remaining work in:

e % A TE &1 & 2/5 a1 &) 12 Rat A, afd g 3t
: Lem- 1oo | DR 6% amn® 16 Rall & qz1 &2 F@ar 213 10
I %10 = gq feal a& v ane Aes: srd sea §l du srd &1 B

e .. ~3% | adSfFaAftaA
39 g1 BT 29N ?
- R (8) 4 days

2 T = (c) 8 days (D) 9 days




MATHCMATICS

By Pradeep Sir

Q9. A and B together do a job in 6.75 days and A
could do the job in 9 days if he worked alone.
How many days would B take to do the job if he
worked alone?

A 312 B fA@®e v &1 6.75 e A g &za € 3z

A 35S aft T 9 R A @1 Bz IFar 21 afk 8

hmﬁ;ﬂammmmmwmama
? _

2% 3

0 ()18




MATHEMATICS By Pradesp Sis

| 5 A — 10D jeene Ade Q10. A and B can do a job in 10 days

e 32 respectively. They worked together for two
days, after which B was replaced by C and the

R 53 work was finished in the next three days. How
LEm:= 10 long will C along take to finish 60% of the job
?
A 3112 B &1 &) warer: 10 3R 5 e & &2 a®a £
A —> 1315 25 2Ye ve el fAe®e a® &1d ®ea ¢ m
A% =Y | o ARBH RATC dafRasd
s R =1y tmin%cmszmsoxumﬁma
R A L
- _%_ m @ (A) 30 days/feat (B) 25 days/fR&
_G__) \69 (c) 18 days/féa (D) 24 days/fR=a
=~ /31X
3/ T~




MATHEMATICS

By Pradeep Sir

Qll. X can do a work in 3 days, Y does three
times the same work in 8 days, and Z does five
times the same work in 12 days. If they have to
work together for 6 hours in a day, then in how
much time can they complete the work?

xfFfisrdHsRaAszasare vyt asd &
e ssRadscasat iR zA s &
mgmuﬁaimmtmﬁawm

6 He &1 ®ea §, at 39S g1 Brd B gRr
mim‘mmmﬁl
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By Pradeep Sir

2
Q12. A can do a work in 14- days. Bcan do it in

2 1
16:daysand Dcandoitin 33;daysand A, B, C

and D together can do the work in 5 days. In
how many days C can do it?

A f52ft B1a1 31 142 e A 2 T § 8 32t Fa B

ls-ﬂaimmtamonﬂmu’tss-au.a c

WiRpfResm sm s s Rl Ascrasad alc
> I8 H1d B fhaa e A sm?

(B) 21

(D) 40
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Q13. Sandeep do (4;)th of work in 10 days, Kapil
can do 40% of in 15 days and Devkaran
can do (1/3)rd of work in 13 days and RajKumar
can do 37.5% of work in 17days. Who is less
efficient?

&g, 10 2 & 131 &1 (L) 391 B2 TSl ¢, B
15 2ol & BTH BT 40% B2 FHal 21 302 2aH01 13
&l & &1a1 &1 (1/3) o1 B2 ASHaT 21 R TAG AR
17 RS 3 S BT 37.5% AP BT ABaAT 21 AT B

A TaATATASE?
A) sa

_ ¥aran/caoryv

D) Rajkumar P







MATHEMATICS
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By Pradeep Sir

Qld.AandBeondo%ofworklandays,Bandc

C Béxtm:omoworkinwdoys&cdnd
oy @+~“ ‘é":"’ 9 60D condo;—:inl:'idays.lnhowmonydaysA.B
and C can do this work together?

2 — [CHA] = ';,:'3:30:1) A 32 B fAS®e JaTTal B131 &1 - o1 12 Rar & 2
&®a 21 B a1 ¢ fASH 32 131 BT 16 2% HFT10
5 - §( A+8xC) lKm= 6o feet A &2 AFA 21 C TAT A RS S TATHA BTH BT —
3T 13 RRa A B2 aHA 21 2 Al RoH ST B
e BT A fden FHa SI-
L2e-
Lo 5 M0 (A) 24 Days (B) 25 Days
BQT} T

5 (K E (D) 20 Days




MATHEMATICS

By Pradeep Sir

QI15. A can do one-third of a work in 15 days. B
can do 75% of the same work in 18 days and C
can do the same work in 36 days. In how many

?
days will they alon_o_zt:”:g\mploto work?

A fbeft 1d & ves-fAerd &1 15 e A &2 a&ar 2l
B 32t &1d & 75% 91 1 18 e A 3z ¢ 3t
aﬂasﬁa’fimmtlaﬂa’fﬁmmaﬂ
ftaaﬁa’fitlm

(A) 11—2: days/fRa & (8) — doyslﬁﬁf |

(c) _13)_ days/fRa & |(D) %’- days/fRai &




MATHECMATICS

By Pradeep Sir

Q16. A and B can complete a task in 25 days. B
alone can complet 33%[01 the same task in 15
days. In how monyzdoys can A alone complete

%th of the same task

ARt srd @t 2s Ra A i sz awa 218
IS IABAS 33 /. BsRIA4A RIS

A1 2, A Sd B2 A HSST IA S1d B —_al AT
faa RaAgqusem?

(c)s (D) 12




MATHEMATICS

Q17. Working together A, B and C can finish a
piece of work in 3 hours A finishes the same
work in 8 hours, B finishes it in 6 hours. How
long will it take for C alone to finish the same
work?

CH AR BT BLAZC A, B3R c Bt s+ 3 62
AT TAPdeIAIDBOIIa DA B sHe H
AT Hedl £, 32 B 3BT IA 6 0 A JaTE Heal

2icTasd & fFaa
He A JATE HeIN ?

(A) 2u hrfa2 (8) 15 hr/ue
(c)18 hrfee (D) 12 hr/H2
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By Pradeep Sir
A B e
00 |5 Q18. A can do a certain work in 15 days. B is 25%
E b & 2 more efficient than A. Both worked together for
4 days. C alone completed the remaining work
G in 8 days. A, B and C together will complete the
= same work in?

L g ‘ A U ffda ord @1 15 Rel A sz asar 218, A A
25% 3OS Hers 21 2l A fAese 4 el as 1
E>B — 142 fan ¢ A 3&S 2w &1 8 R A w1 fan A, B

- o | i c fAes: 32t o & fas e & ger & 2

(A) 4 days/Ra CI 21 (B) 6; days/fest

Sl gl




MATHECMATICS

Q19. A and B can complete a piece of work in 15
days and 10 days respectively. They got a
contract to complete the work for 75000. The
share of B (in) in the contracted money will be:

A 3112 B feft &1a1 &Y Haver: 15 fRat itz 10 Rat A
B2 TAPA £1 UH B B 2 75000 A @RI HeA &
Iot &1 (Higae) fA=n & &t A B &I

fean (2 &) 2m:

(B) 40,000

(D) 30,000




MATHECMATICS

By Pradeep Sir

Q20. A and B can complete a piece of work in
4.5 days and 9.9 days respectively, They got a
contract to complete the work for 80000. The
share of A (in) in the contracted money will be:

A 3112 B &t &1 &) B2 4.5 21 3z 9.9 Rl &
¢ AP A 2| UH BT B! 2 80000 A T HA &
Io¢ &1 (Sicae) Ao & &t A A ST

fezan (2 &) 2w

(A) 2 45,000

(C) 240,000 (D) 235,000







MATHECMATICS

By Pradeep Sir

Q21. If A had worked alone he would have taken
63 hours to do the task, What is B's share, if A
and B work together on a task finishing it in 36
hours and they get paid Rs 5,950 for it?

af? A A 3HS HA a1 far al 98 A HeA S
f3v 63 H2 San B &1 f2zAT &1 291, 3P A 32 B
TS ATl HIA 36 He A JATA Hea ¢ 3
g fAT 5,950 SUT &1 oPTaTs fBaTATan 2

(A) 3400 (B) 3600

(D) 2750




MATHEMATICS

Q23. A can do a work in 8 days, B can do the
same work in 10 days and C can do the same
work in 12 days. If all three of them do the same
work together and they are paid Rs 7400, then
what is the share (in Rs) of B?

AT HId B 8 RaAseasare, s 3@t srdf®110
el & 2 AHar £ aur ¢ 3 Hrd &1 12 a1 A &2
TFearl 21 af? 3 e 33 &l &) Ty A RAes Ha
%ang&;uooa.ﬂumt.a’lamftm(aﬂ)

D) 2000

{B; 3000




MATHEMATICS

o LA — ¢ ;loa'rs By Pradeep Sir
- &= 2 Aot Q24. A, B and C individually can finish a work in
6, 8 and 15 hours respectively. They started the
2 c - 15 bowvs work together and after completing the work
= got Rs.94.60 in all. When they divide the money
among themselves, A, B and C will respectively
get (inRs.)
39‘“260 A, B 32 c 3> fAeft H1er &1 waer: 6, 8 3 15
A — RV 3y, Hel i QeI e Ada g1 Aoft 3 v e H1e 2 fan
43 3H1Z BT JATE St U2 I ¢ 94.60 fAS| e sual
ets ~ &1 fAanfAa far wmA &t A, B, ¢ &1 Rz Farsi
B —» =r\° 33
sb; 43,27.20,24.40
o 3 IS, 30, T9.6C d) 42, 28, 24.60
G  ® x® 2 \ 6o




X— B> 5y hou s

MATHEMATICS

! LCm= 10R
%
( - "1‘%71;2..0
1

By Pradeep Sir

Q27. Working alone A can do the task in 27
hours and Bcan do it in 54 hours. Find C's share
(in Rs) if A, B and C get paid Rs 4,320.20 for
completing a task in 12 hours on which they
worked together.

Wb BIY BHed EC A 27 5 A BT &I Ge1 He Abhdl
¢ 302 B 3& 54 U2 A & AHal g1 C BT fFzn &=
N af2 A, B 32 ¢ &1 12 62 A v &1 1 Heal B

3T 4,320.20 &. &1 opTaTe fAar g, A w2 3=
T A1 ST fasan i

ss) 960.06

C)1920.06 D) 1280.06



MATHEMATICS Bt

&
=7 3 Q28. Sandy and Mandy do (8/13)th part of a
work and the rest of the work was completed
by Andy. If Sandy, Mandy and Andy take the
o same work for Rs 2626, then what is the share
13 % (in Rs) of Andy?
A8t aon At v &l 1 (ahs; ai 31 & 21 Hed
002 ¢ den oy B ot & g arar g1 afk A
9-€oex 5 HA qen U8 3aH B DI 2626 & A B 2, At ¥
Ta &1 2z (5. A) fSasn g ?
A) 1600 3) 1400
010 (c) 800 (o) 1010




MATHEMATICS

By Pradeep Sir

Q30. Amir and Akbar can finish a task in 30
days and 15 days respectively. Akbar worked
on the task for 8 days and left the job. In how

many days can Amir alone finish the
remaining work?

AT 312 rpae v Hid B2l 30 312 15 o A

& ADA £ AHaC A 8 a1 I T80 W HTA B
are &1d B3 faan ardt a2 &rd &1 snfae fGaa

RafAEIszadaIz?

(A)14 days/ @& (B) 15 days/ f@=t

(c)16 days/ =t (D) 17 days/ =1



MATHEMATICS

Q31. A can complete some work in 35 days and
B can complete the same work in 15 days. They
worked together for 8 days, then B left the
work. In how many days will A alone complete
60% of the remaining work?

A, faft &rd &Y 35 fRa1 A H¢ AFar £ 3z 8 3t
&1 @1 15 a1 A Q1 B2 FABar 21 Isgial U 1A 8
fRar a& & B, 389 T B & &1 Bz f2amn
mm@mdteox o1 B fhaa Rar & qur

3



MATHEMATICS

By Pradeep Sir

Q32. A and B together can complete a work in
20 days. They started together but after 4 days
A left the work. The remaining work was
completed by B alone in 24 more days. In how
many days can A complete the entire work
alone?

A TT B TS B &I fASHe 20 R & g1 H2 d®a
213 U A1 BT Heall e Hed g ueq 4 Rall &

are A &1 813 241 21 2l &1 B 3T 24 At
feail & qe1 Hear 21 A Tl &1 & wde fGaa
Rt A g s adar e ?

(c) 5 (©) 60




MATHEMATICS

By Pradeep Sir

Q33. A and B together can complete a work in

2
67 day. They started together but after 5days A

left the work and the work is completed by B
after 6 more days. A alone can complete the
entire work in how many days?

A @ B U B @) fAe®e 6- et 3 g1 e J@a
213 vs A1 S Bl A Hed & Ueq 5 Rl &

AR A B aaIgdAT A HA B HeA A
sﬁamggratu mmqofm&aﬁ

RAtA ISz adare ?

(A) = (8) =

(€)= (D)=




MATHEMATICS

By Pradeep Sir

Q34. A and B together can complete a work in
20 days. They started together but after 4 days
A left the work. The remaining work was
completed by B alone in 24 more days. In how
many days can A complete the entire work
alone?

A TT B TS B &I fASHe 20 R & g1 H2 d®a
213 U A1 BT Heall e Hed g ueq 4 Rall &

are A &1 813 241 21 2l &1 B 3T 24 At
feail & qe1 Hear 21 A Tl &1 & wde fGaa
Rt A g S TBaT ?

(A) 75 (B) 25

(c)as (D) 60




MATHEMATICS

Q35. A, Band C, alone can do a piece of work in
9, 12 and 18 days respectively. They all started
the work together, but A left after 3 days. In
how many days, was the remaining work
completed?

A, B 32 C 3&e et &rd & waer: 9, 12 37 18
et & qof 2 Twa 21 351 Foft A Aewe & 3mdar
féar, aﬁa‘ftmtxamﬁl‘gﬁmle}um
féaa qufgam?

(a)2 (8):

©%
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&€ — [A+[B]> 103
Q36. A and B together can do a piece of work in
Y — B+~ 153 10 days. B and C together can do it in 15 days
2 - [J+A] - D while C and A together can do it in 20 days.

They work together for 8 days and A & B left the

work. C alone will complete the remaining
when rk in:
123 F(CA+BC) work in:

- G52
f e rs2 66 A 312 B e et &1 &1 10 Rl & &5 a®a 2
R—=>28 B 312 ¢ fAe®e 32t &1 &1 15 e A B2 asa
L@; i dafd ciRAfesr @ 20 Rl A seasa g1d
5x8 = 52 Haft 8 R ah vh ATA BT HeA £ AATZHAS dIE A
m—_— magg"maﬁmtlcmaﬂmm
Cs 80, )45 N a—

O = (A) 12 days (8) 3 days

(0) 5 days




MATHEMATICS Bt

Q37. A can do 20% of a work in 4 days, B can do

33-;— of the same work in 10 days. 3 They worked

together for 9 days. C completed the
remaining work in 6 days. B and C together will
complete 75% of the same work in:

A fa5eft &1 &1 20%, 4 51 F Q@1 2 FAHar 2, 8 3
sl B33, 0l Am s asazidofRa s

%ewm%mmtlcehma’lsﬁaﬂqa
®edl gl B 32 ¢ e ey 32t & &1 75% fBaa
et A g &2

(A) 12days/ =1 (B) 15 days/ =1
(c)10days/ féa (D) 9 days/ @




MATHEMATICS Bt

c — A — 50D

Q38. A, B and C can do a job working alone in
H =98 » 353 50, 75 and 20 days respectively. They all work
together for 4 days, then C quits. How many
days will A and B take to finish the rest of the

iy &
| . - job?

A, B AT C IS BT Hed ge fdelt H1a1 &) waer:

A5 % L 50, 75 31T 20 Rt & g1 He B &1 2 Aot ae =
TS T1Y BTA Hed ¢ de fbe ¢ ST Big 2ar g1 a2

= 100 U HA B AdATB fhaa Rl A RIH SN 2

e 21

(c)8 (D) 24
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By Pradeep Sir

Q39. A, Band C can do a job in 6 days, 12 days
and 15 days respectively. After % of the work is

completed, C leaves the job. Rest of the work is
done by A and B together. Time taken to finish
the remaining work is

A, B 3112 ¢ fzft &1df &) e 6 fRa1, 12 Ra1 3R 15
RadqEiaeasdtl- sSSP AARS AR C

1 BIZ 2a1 21 A9 BT A 3tz B g1 Hea g
oIy &1 Y21 Heal A fdbdell HAT SIN ?

(A) 5; Days (B) 6;Days

(c) 3;pays (0) 32Days
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By Pradeep Sir

Q40. 3 men A, B and C can complete the work
in 10, 12 and 15 days. A, B, C start work together
but A left the work after two days. and B left the
work 1 day before the completion of the work.
In how much time the whole work will be
completed?

3 3reat A, B 3112 ¢ feft &1e1 &Y B2 10, 12 311215
ﬁaﬂmmtlﬁmmmm:g

Hed & UZoq 2 351 G2 A B9 Blzde ST AT 2
B m%ﬂw ®1 BIg 2ar1 21 @I
BIHA WA g1t A fBden AAT HIN ?

OF

(c)e (D) 5






MATHEMATICS Bkl

Q41. 3 men A, B and C can complete the work in
II%, 9'11_1 and 11 days. A, B, C starts work together,

A and B left the work 2 days before the
completion of the work, then the whole work

00 ¢ — D =TT e | will be finished in how many days?
3 3Teaft A, B 302 ¢ et H1a1 B HaAer: 1, 3T 9
(A +8)xa oo 1|, Rer & e awa 81 dfiell & T fAase B
( ¥ b, gejaﬁrmu&;hé:‘%mgaaaazﬁa
9 + 1) )x TG0 ®Ia Hean BI fEan, at gansi g1 &1 fFaa

2204220 93 RaAz=rgan?
mg/ (A) 3 (8) 4,
=
(1—% L (C)s (D)7




E— A—2 8D

MATHEMATICS

By Pradeep Sir

Q42. A, B and C can complete a work in 8, 16
and 24 days respectively. They start the work
together and A works till last moment. If C
leaves the work 2 days before and B leaves one
day before the completion of the work, in how
many days the work will be finished?

A, B a1 ¢ et 1ot & B2l 8, 16 daAT 24 R &
AT B2 TAdba g1 diall A1y RSHe S 3

Hed £ dAT A 3od dh BT Hedl 21 C HTHA TH 2
A 2 35T UZS 9 B B TA g1 A U a1 Uz 1A
BI3 2a1 £ At 9a1Ed $© B fbaa foal A Fema

g3~

(A) 8 days/ fé=t (B) 5 days/ fé=t

(c) 6 days/ fé=1 (D) 7 days/ =t



MATHEMATICS Bkl

Q44. A and B working separately can do a
piece of work in 10 days and 15 days
respectively. If they work on_alternate days
beginning with A, in how many days will the
work be completed?

A 3012 B faeft &1 B 3S91- 391 Haer: 10 st 3R
O 15 31 & Q21 &2 aa §1 Al A vaiae & & S

.| @ E A Gl fRst e[ ®ear g, @t &
JE ﬁ;aaﬁa‘fgqa?ims' "

(a)8 (B) 6

(0)16




MATHEMATICS

Q45. A and B separately can build a wall in 6§

1
and 8: days, respectively. If they work for 1 day

alternatively, starting with A, in how many
days will the wall be built ?

A 3112 B 313 b bt dare &1 fAasfor saer: 6§

31z 8- fAet A B2 TP £l A A 2= Hedb, AR A aTdl-

Tt & vt et w1 wea 2, At fsaat fRal f dhare
&1 faarfor ger g srean 2

(A) 7- Days (8) 12 Days



MATHEMATICS D

Q46. Machines A and B always operate
independently and at their respective constant

3 — P> hev rates. When working alone, Machine A canfilla
production lot in 3 hours, and Machine B can fill
the same lot in x hours. If A and B worked

alternatively, while each work for 1 hour at a
A R time, the total work gets completed in 4 hours.
What is the value of x ?

FHefi A a2 B Tada U A 31Ul 31t S areran
M T A &1d Hedt 21 Aefiat A 35S 3 62 A &S Foa
AL i B¢ Tbdt 21 den FeftsT B TS B &Y x Hel A e
e % Awdl 21 afe A a1 B Hfds s R 1-1 6 Hd &2 al
T BT 4 TSl A JATE &1 ATAIMI x BT AT A1

x=% /‘@ it

(A)8 (8)6

(c)a D)5




MATHEMATICS Dl

Q47. Two women, Ganga and Saraswati,
working separately can mow; a field at 8 and 12
hrs respectively. If they work in stretches of
one hour alternately, Ganga beginning at 9
a.m., when will the mowing she finished?

a1 ARSTE N 30 TALETdl HHI-HSI B B
58S wael: 8 32 12 Hel A e At &1 af d
STEl-arel @ UH-UH Hel B & a1 I 9 §A
583 BICl 2[& e dl Bell Bd db HaATd &l

) 5:30
c) 9:30

D) 8:30




aﬁ#'ﬁ%aﬁﬁa?ﬁ




MATHEMATICS e Pkt

Q51. A, B and C working separately can do a
piece of work in 11 days, 20 days and 55 days
respectively. In how many days the work will
be completed if A is assisted by B and C on
alternate days?

A, B 3112 C faft &1 Bt 3rS391- 3191 HaA2: 11 2,
20 31 32 55 R A e TFa ¥ fbaa Rl A &1
AT 2 ATCIN, AR ATHIdZ FAAB T CH AT

&I He ?

(A) 2
(c)a




MATHEMATICS e Pkt

Q53. A, B and C can do a piece of work in 10, 20
and 25 days. How much minimum time should
be required to complete this work if more than
two persons can not work in a day and in any
two consecutive days same pair can not work?

=+ AL A, B 32 ¢ f5eft 131 B 10, 20 302 25 RaT A T

Axc| ®ed £l 38 BIA B! WA Bedt A fdbdall gaiddl

G| - - | #e | T2 v faat & 2 & SareT afh &1 1dl
®¢ Ahd dAT HATS oA &l FIare fast A &l aigt
He APA ?

(A) 7% days
(9] 65 days D) None of these
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Q54. P is 20% more efficient than Q. If Q alone
can finish a work in 10 days, then in how many
days P alone will finish the work?

;rgz}zo% fdes Sddgers gl uﬁ%ﬂmﬁmﬂ
aﬁioﬁaﬁﬁ?mmta’lpmm
RT HeIm ?

&1d &t fhaa et

(B) 8.5
(D) 12



A &
T &
Tw:-l-c%*x__%é
> =
A= 13D N\
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Q56. To do a certain work, the ratio of the
efficiencies of Aand B is 7: 5. Working together,

they can complete the same work in 17% days. A
alone will complete 60% of the same work in:

aﬂ;ﬁﬂammaif%c;\maaﬁm
PerSdl &I 3eUrd 7 : 5 &1 T a1 f[ASHe s

®ed ge, @ 3t &rf &t 17 fRar & g1 +e dda

35S A 32ft HTf BY 60% fbaret 2 et A T BN 2

(A)16 days

(C) 21days > days
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A B
PR . A Q57. A is 25% more efficient then B. A works for
e - = L& 'D' days and completed 1/ 3 of work and left the
et 5 4y i ?+12 | work and Remaining work is completed by B in
= J 'D +12" day. In how many days A and B together
20 can complete the work?
r5 XYy
S*D g\ 4o + 8o A, B & 25 yfderd sifde $era g, ABE s D Ra A
Worn) ~ & — Hedl & 31T B BI U [dels el dedl & g BId
Bl3 34T g1 29 &1 B, D-12 f3at & g1 &ear g Slail
0D= YD +4g  J&e fAose fbad RaA A RI s TASAE ?
— e e
et T | wsan
3

(C)12days (D) 12; days
A R
3
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Q58. B is 20% more efficient then A. B start work
and do x day and after then B replace A. A
complete the remain work in (x + 8) days. Ratio
of completed work by A and B is 3: 2
respectively. In how many days A and B
together complete the whole work?

B, A & 20% 3iftles Hrfeel g1 B A Hraféa fFarvd x
et a &1 fHan zad a1e B &t T9IE A HIA
&l I A A 219 BT (x + 8) st A gz fban A

Td B gIRT f&T 1T &1 &1 3(uid 3: 2 81 A 3l B
aleil fAiesehe 38 BT ol fdhdel fast A JeiTd Bl ?

1

(A) 13=day (:)) 1217—1 day
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Q59. P is four times as efficient as Q. P can
complete a work in 45 days less than Q. If both
of them work together, then in how many days
the work will be completed?

p &t &131aT Q & TR I 21 P Uh I & Heal A Q
& g1eT f3T e Fe7a & 45 s &a1 Sar g1 afe a=l
fAe®e B ®ed € al B fhaa faail A QRIEhm 2

(A)10 (B)12

(c)15 (D) 30
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Q62. A is 1.5 times efficient than B therefore
takes 8 days less than B to complete a work. If
A and B work on aiternate days and A works on
first day, then in how many days the work will
be completed ?

A, BEL5 oI 2, 33T a2 ves &1l &1
mem £1 A dT B Tdhide

wmm%amAmaﬂﬂzﬁﬁam%

dl B fsaat faa & g1 & wirean 2
(A)17

(c)19.5 (D) 21



